
Self Assembly  
Instructions



Leg Assembly Instructions - Uniqa
Please read these instructions carefully before fitting the legs to your furniture. It is critical that the legs are correctly fitted 
otherwise serious damage could occur and frame warranties may be invalid. Two people are required, cross head 
screwdriver and a spanner suitable for an M8 bolt will be needed. The sofa is heavy so should be assembled near as possible to 
point of use. Take care when lifting to avoid personal injury (or) damage to the furniture.
No liability will be accepted for damage or injury caused by incorrectly installed furniture. 

Bag contents - 3 & 2 Seater, Chair and Cuddler Static

Steps 1 - 5 apply to all Uniqa Models

Step 1
Remove bag by cutting ties and push 
remainder of the ties down the back of the 
seat (see Fig 1) 

Step 2
Remove all seat and back cushions, and put 
to one side. Carefully lie the unit onto 
its back on a clean surface, this is a two person 
operation

Step 3
Unscrew the temporary feet and M8 bolts 
using a cross head screwdriver

M8 Bolt

Temporary Foot

Step 4
Correctly place the foot above the 
two bolt holes (see fig 5).

Step 5
Securely fasten the two M8 bolts using
a cross head screwdriver.
Repeat Steps 4 and 5
Five more times for the Split Motion Lounger
totalling three feet on each unit (see Fig 6).
Three more times for a Static model (see Fig 7) 

Bolt Locations

Fig 1. Bag Containing Feet on seat cushions

Fig 2. Underside of sofa exposing all four t
emporary feet

Fig 5. Wood foot (left) metal foot (right)
with bolts shown in postition

Fig 3. Temporary foot
 and locations of M8 Bolts

Fig 6. Shows locations of all three feet.   

  

Fig 7. Shows locations of all four feet.   

Fig 4. Sofa on back exposing all four t
emporary feet

Step 6 - 3 SEATER STATIC MODEL ONLY 
n the centre of the base is a bolt hole. 
This has four staples around the outside to help locate.
Attach the central plastic support leg as illustrated.
FAILURE TO COMPLETE THIS STEP WILL RENDER THE
FRAME GUARANTEE INVALID

x1 Centre foot
and Bracket
(with bolt)

x2 Central 
Support Foot

x6 Wood or Metal
Feet

x4 Wood or Metal
Feet

x1 Central 
Support Foot

Bag contents - 3 & 2 Seater Motion Lounger

Fig 8. location for central support foot  

Page 1 0f 2



Step 7
The 3 and 2 seater Split Motion Loungers 
will arrive as two seperate units, both with 
temporary plastic feet used to transport the
furniture (Fig 9. Circled in red)  in the
centre. These feet need to be replaced with the 
larger central support feet provided within the bag 
(see step 1)

Fig 9. Left hand 3Str Split Motion Lounger unit Fig 10. Plastic central foot replaces 
temporary foot

Steps 7 - 11 apply to all Uniqa Models

Step 8
The two seperate units will have to 
be attached via the brackets located 
on the armless sides (see Fig 11). 
There will be two on eitherside, 
one at the front and one towards
the back. The right hand unit will need 
to be pushed into the left hand unit to 
slide the brackets together. Ensure both 
brackets are secured before 
proceeding  

Connect the cables leading off into the transformer
and plug into power supply, then fully extend the motions 
using the controls located on the outside of both the arms.

Step 9

13cm

Front of sofa

Step 10
To attach the centre foot, first locate the 
bolt hole, situated approximately 13cm away from 
the front of the sofa (Fig 15). Once located remove
the bolt from the metal bracket of the
centre foot and align the 
hole to the sofa. Feed the bolt through
one side through the units and into the 
opposite side of the bracket (Fig 16).
Tightly fasten the nut with a  spanner to secure 
the foot into place (Fig 17). 

Brackets

Step 11
Once all feet have been attached
the sofa will now be ready to turn
onto its feet DO NOT PIVOT 
SOFA ON BACK FEET instead lift
weight of sofa off the floor and turn
onto its feet. Once the sofa is 
upright and in the desired
position replace all seat and back 
cushions.  

Fig 11. Shows locations of brackets
Fig 12 . illustrates the right hand 
unit being pushed into the left hand unit

Fig 13 . cables fitting
into transformer

Fig 14. Shows the motions fully extended

Fig 15. Location of the bolt hole, approx 13cm from front of sofa

Fig 16. Location of the bolt hole, approx 13cm from front of sofa Fig 17. Shows bolt securely fed through,
connecting both units. 

Page 2 0f 2


	Self Assembly A4 portrait
	Uniqa instructions Final

